AIERR)YVE2ERERDBRL—Y

60
15 - o E—SIABREE

7' mEm g e
T )
= o, 40 —4 kA/cmz
W10 M 30 —— 3 kA/cm
= D
i EREAL—

EREAIL—Y
i 0.5 DBR% N & 0 H H

0 2 4 6 8 10 -10 0 10 20 30 40 50

DBRLESBE[C] BWARAGIE [um]

BR#HZEDDBREFREKENE HARMDDBREFEESM

10°CHDBREEZ(IZELY. ITHZD ER#E%E
05~15THzDEFETEILTES

TINARABE

“.17um

<> ‘
{EfEMEITOT7AIL
30um

0
E AR ET 0TIl

—| AIERER
FEIRFIE

50

—— DBRL—¥1
—— DBRL—¥*2

40}

30

Se s A mw]

20}

0 10 20 30 40 50 60 70 80

EAERIA]

YREEABIAER 80mA
LELMEER 25mA. 28mA
FHA 47mWELEGEAERSOMA)

=]

L
=]

8

*Hi‘]‘:‘v’l’:ﬁélﬁ[ﬂﬂ]

4

HIRKE R Z1.3nm(0.7THZ) ~2.4nm(1.2THZ) D ZE 1L ZZ AL

THZRIRHHER

> 7 b
IR os]
A A 1.26ps(FE K %k0.79THz)

C THZ S - R ISR D




